9“
-

& AL3R 7 1 — FERg

S HIBEDIRY A

I1.Y72—X(#5)

|- TERE%-EYIEL - TYIAN—FNZIREHR
[%HR] TR A DRBE

FRERLIVEDEFR (RA1\YIDHFR)

[%RIETSRAFVIDRE

O.)52—2CR57)

ETHOKYY, £ T HORIE(L (KR
|7-kr517

[%HR] TR ADRE
EOBAIHSOEA

[SRIETSRFVIDRE

m.")2—XR (B#H)

| B2 AN D EN L & ) %2 Vv
RS TEEGDEER
[R]EHF- - TR HDRE

15 e
RI (8.24g/A-H) 5
2.85g/A-B

e m —  — w — w — w  E R  m E m E e w
|
]
|
]
[
]
|

NYHAL4I2)L (BE)

|- EREHAERAN DA

I (3R] TR HDBE
i
i
T
i
i
i
i
i
i
K Bz
RI 48,840t
BERIITRS  RI2 41,632t
$thisk H] 4
L | (Bg&-FrP4-EAR)
RI 5,822t
RI2 4,074t

=

4R

....................

IAIBE YD
FEZZAHHLEE
(orrgmam | 4409
lomaeram | 4039
(smasmam | 4556

-SREAERE, BRI HFERS

. _> 5 bR bIL-

RI 8,339t

R12 7,312t

IAIBH=YD
HHEHE
= 850
[£F07FE BIE]) g9
EZEBNH
(srxEmsg) | 54919
THRHEHE
(REER+EX¥R]
....................... REZZHHHS
—MRBEREY o, 33,828t
RI2 24,937t
R & |
; . RI 4,170t
TRZA o2 3728t
< .
? BEB% 2 A
RI 700t
RI2 423t
|
)AL R 3.9861 ' "
RI2 4,974t
- & |
|
RI 4,236t
2| %77 RI2 5,508t
B, ..
llx'ff%t’z/) RI 1,795t
RI2 1,468t
wE RI 16t
RI2 13t
#0 5 E]UR
alruze S5
B RI2 485t
alaee. R 1ost
ATL—&  RI2 96t
VALV
\/% i EH
-
1| O,
ERH
W)

‘FE4&B (z7a>-FLE A

BRI - M) IRE) Y10

...................... JEEIALIEE o oo
RI 55,312t
R12 46,212t

> %A >

BE & IR F

g1}l

%

TR ME

>
............................... BAFA
>
|/ VAL
>
RI  21.27%

IL— A
BETFENEICYH LIS H

(s IR )
BEXZ—REEY RI 16,902t
[(#6< T R<T BHL<TZE] RI2 13,052t
EEREY (@HEEBR R 207t
(& VADHIIHAINL 215 293t
FERBEEY)
[RAZR. R TIRFVI. 2.
HS5R%]

T2 =t 9-TITREB LW

RI2 27.36%




